A

Al A

B DAOEE HTMHIA PE
oel: DIANEIA XA 2E (St M2
SA - B B(30) - HSAIY - BAS Ol &kt e HImE2
QIR S At 681,096 638,571 42,525
= 96,950
T 2,382
Al 581,764
DHOLE HFINHIA 2= 213,265 240,719 AN27,454
= 26,020
Al 187,245
IAMEIA XA 2= 187,245 240,719 AB3,474
QIREE &t 38,940 62,040 223,100
201 et A 31,740 31,940 A200
01 AtR2tel] 25,740 25,940 A200
ORIACHE(RIET) IS TAL 18,500
—QIRIBHEST TA 7,500,000& 7,500
~SEE TA 11,000,000 11,000
OFE Wg 2AAZ(13]) 1,000,000& 1,000
OLIJAH A2F 12 5,640
DIAWE WA 9 =AD| EH S
120,000 12& 1,440
S=AK 2 ODIRIRR KR U MER S
350,000 *12& 4,200
ORIRZHAG FOABA £
100,000 *3H #2353 600
03 A2 6,000 6,000 0
oplRggEe ¥y T2y
6,000,000 6,000
303 Z& 3 5,700 2,700 3,000
01 Z&=2 5,700 2,700 3,000
ORI Xel OtEelXl 222 Z&Z3 3,300
-z 2201l 200,000& x4 H 800
-=(JHel) 150,000 4 Z 600
-Zed (JHel) 100,000 *4H 400
-Z|R%(2A) 700,000 *1JH 2 Al %13 700
-2 (2A) 500,000 * 1 R Al %13 500
-Hoi(8A) 300,000 *1IH R A *13] 300
O=0IE0 AXNE RFAH Z&3 2,400
-X|22(2AM) 500,000& *1H 2 A +23] 1,000
-2=(2AM) 400,000 * 1 2 Al *23 800
-Zed (2 M) 300,000& * 1JH £ Al %23 600
405 XHaHE SHI 1,500 1,900 A400
01 ML SEFSHI 1,500 600 900
O=3tH &=AM7dl 15,0002 x 100 1,500
QI ARFA 148,305 178,679 230,374
201 LEet2A| 92,079 A, 175 A2,096
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SA S AR
I DUUIE HHMYA I
Pl YEAMBIA A 2= (Gt M)
SA - BB SRI(B) - MRAR - BAS Of v e HIDEY
Odittgll |Xiael 1,000,000 1,000
ORIy X |XI(1CH)
3,000,000& 3,000
ORQAESI| It==EI| FAE 4]
5,000 «9CH+ 123 540
203 B =& 5,000 5,000
03 A= P R=H] 5,000 5,000
ORIFZAID AIMETQYREFY]
5,000,000 5,000
308 AFXIEHMISOIA 19,786 17,104 2,682
11 31 2S0 e 3 & X 2 ALY 19,786 17,104 2,682
OXHIH ZUSEAAY 29 a3
19,786,000 19,786
405 KHak3 S| 31,440 62,400 A30,960
01 AL =S F=H 31,440 62,400 A30,960
Otlg=g &gJ| 7 22,000,000 22,000
OxslE 28| 600,0002!*14H 8,400
O =& 2 520,000 =2H 1,040
HE2H SEF Azl 26,020 0 26,020
= 26,020
IIESAHSEARK Bl K& 26,020 0 26,020
= 26,020
201 B2 26,020 0 26,020
= 26,020
01 AFR2t2lHl 26,020 0 26,020
OIISSAHESE 23 cIE23 A
2,000,000 2,000
= 2,000
OI=BIHES 2R ER2E 7Y
10,000,000& 10,000
= 10,000
ONFTAUS2YS NPBE 7Y S
14,020,000& 14,020
= 14,020
A& o FSN2d 409,349 373,052 36,297
= 57,774
= 2,382
Al 349,193
EXl2el 211,302 173,144 38,158
= 16,579
S 1,744
Al 192,979
HESAIXIIOE ZAF AHE 46,379 44,329 2,050
= 16,579




2N

DISIZ AL}

[y )

BE: NE U RSH2Y
chel: EXzel EEREED
SA - B . B(30) - HSAIY - BAS Ol &kt e HImE2
Al 29,800
201 LetzAL| 45,579 43,729 1,850
= 16,579
Al 29,000
01 At22telbl 45,579 43,729 1,850
OMESAIXIL AES+=+3T S
45,579,000& 45,579
= 16,579
Al 29,000
202 Ot 800 600 200
01 =G4 LI 800 600 200
OIS S AR ZAHGHI 800,000& 800
FSUNHAEA =E 40,300 30,600 9,700
201 et AL| 30,000 20,000 10,000
01 AtR2teld] 30,000 20,000 10,000
OS2 Y HIE MAE =2
30,000,000& 30,000
202 O 300 600 A300
01 =LHO4 b 300 600 A300
OFSAe S22 JUALI 300
-2SEHY HRFA 300,000& 300
301 LetENZ 10,000 10,000
14 JIEt2 43 10,000 10,000
OfSat Aldfel AXAD ZAZ
10,000,000 10,000
ZSOUSIHAL s & K& 1,744 2,700 AN956
& 1,744
201 et AY| 1,744 2,700 A956
= 1,744
03 A2 Y| 1,744 2,415 671
OZSHAL s 2H
1,744,000 1,744
& 1,744
T2 ME=A 29 40,289 23,408 16,881
201 Let2AL| 2,092 2,092 0
01 Ar2teltl 700 700 0
OS2EFA 233 39 A
100,000 +7E %13 700
02 Z324l 1,392 1,32 0
OADIEAIO| Sbl=22
66,0003 122 72
O dzH RA2=H|
50,0003 * 128 600
202 (44| 700 700 0




SA: DA S A
BE: NE U RSH2Y
chel: EXzel EEREED
SA - ZE - EI(E) - A - BaS 0f &t e HIDE2
01 =LHOIHI 700 700 0
OE=2g:4 MY =8 700,000 700
206 M= Hl 300 300
01 =4l 300 300
OASHST HLUR 2DE
300,000 300
308 AXISHSO0I™ 37,197 18,116 19,081
11 S 2S0HEE o X A A 37,197 18,116 19,081
O=ItF=A2H2AAE SN2+ & 23| 37,197
GISAZEN =RAZ=4|
2,518,000& 2,518
KAISAIAES 2SXE 15,155,000& 15,155
—XEAICH KAISAIAES 1= 19,524,000& 19,524
M=AAIE2 2 HIAE 40,000 42,020 A2,020
401 AIEHIZ SR 0HYI 40,000 42,020 A2,020
01 Al<H| 40,000 42,020 22,020
OzZE S ¢tHAIdE &1 & RAEx 40,000
-EEHE EX S 180,000 100K 18,000
-HEHSE X S 10,0003 %2, 2007H 22,000
HANFA BEs A 6,000 6,000
201 23| 6,000 6,000
01 AtR2telbl 6,000 6,000
OdM=2 HEat Mg 222 WA
2,000 *3,0000H 6,000
C2EFA D2 e MY 17,590 5,087 12,503
308 XA MSOIH 17,590 5,087 12,503
11 S| 2AS0HE B o = 2AE A 17,590 5,087 12,503
O=2g=4 JI2E |24 HAAZYI
17,590,000 17,590
T2HEFA CHHAIE LHIZAL 19,000 19,000 0
201 Zer2Ed| 19,000 19,000
01 AFR2t2l 8| 19,000 19,000
O=2g=x4 AIE=2 2HIAL 4
19,000,000 19,000
AHSE2C] & HMEH 198,047 199,908 1,861
= 41,19
= 638
Al 156,214
INESEES S ) 4,656 8,656 24,000
201 B2 4,056 8,056 24,000
01 AFR-2telHl 4,056 8,056 24,000
OXH LHHLE MNRESFY 1,296




A I SARD
R NE U 2SN
ool NRZRB| Y FA2 (19 ®e)
SA - B . B(30) - HSAIY - BAS Ol &kt e HImE2
~EX(Q0NUE HAZX 2(A)
25,0003 «3t Ax 12 900
-KIE (U0 EH MA=X 22(A3)
33,0002 * 18t A% 123 3%
ORSNBHTRAAY (kias)2Y ADF 7
L(AHOINZEHERIE EH)
230, 0002 * 1204 2,760
202 44| 600 600
01 =LHOd b 600 600
OX&E= JtHA 300,000 300
OEXOIsHEel XA 300,000& 300
NEH L2 S 45,236 55,536 A 10,300
201 et AH| 45,236 55,536 A 10,300
01 AtR2teld] 9,800 9,600 200
OZFRRNEIIZS MototAtE Tl EH
9,800,000& 9,800
02 3=2gH| 35,436 45,936 210,500
OFSUHEEBRAAE SIEANH =R
Bl 889,000& =123 10,668
ORSHUHSESRAAE 29 w22/
2,064,000& 128 24,763
K ETHEAALY =& 104,834 87,611 17,223
201 etz AL| 31,334 36,111 NATTT
01 Ar2teltl 24,721 29,598 AN4,877
OXNEMMEZAIANY E2E ME S
10,0002 400K 4,000
OXIETMZAL NIEI|EE 48X S 12,221
-N&EIEE 2=H| 112,200 *300H 3,366
-N&EI|IEE -] 40,7003 504 2,035
-NEHI|EEHAS A
11,0003 *6202 X| 6,820
OXE= HOIE ME(AEXNE HA)
100,000 *30= 2 3,000
OXIETHEAL 23 23S A
100,000 *7H %43 2,800
OZFEIt =22
45,0003 *30 2 X|*2I0 & &l 2,700
02 2224l 6,613 6,513 100
OXEIEAIANE REUESZ
1,000,000& 1,000
OHMIAEXIA GPS &8l =Xl2teld]
35,000,000 *10% 3,500
OEEZ |AE=| 9,130,0002 *10% 913
QOtEg =28 600, 000 *2CH 1,200
202 odb| 1,500 1,500
01 =UHOdb| 1,500 1,500




A I SARD
R NE U 2SN
Chel: MEZ2RRl L FA2 (2o @)
SA - B . B(30) - HSAIY - BAS Ol &kt e HImE2
OXIETHEA SR 1,500
N ETHZAIALY ST A
1,100,0002 1,100
TEINFH U NESWEY JFEA
400,000& 400
301 LetE2NZ 50,000 50,000
14 J|Et2 &3 50,000 50,000
ONEMEN HEXT ZHZ
50,000,000& 50,000
405 KR S| 22,000 22,000
01 A= SH S| 22,000 22,000
OXNEESEH 7 22,000,000& 22,000
K= THZ=AFAFS (=8]) 41,195 45,739 A4,544
= 41,195
201 2et2AL| 41,195 45,739 A4, 544
= 41,195
01 AtR2teltl 41,195 45,739 A4,544
OXNEMEAAY 5 +48 S
41,195,000& 41,19%
= 41,19%
SR EH ST AR EAL 2,126 2,366 A240
= 638
Al 1,488
201 LEt2AL| 2,126 2,366 A240
= 638
Al 1,488
01 At 22| 2,126 2,366 A240
O=ItXIESHS 8 LRI A
2,126,000& 2,126
= 638
Al 1,483
HY2HZH| (D2 SAL) 58,482 24,800 33,682
= 13,156
Al 45,326
QIARHH| (DI RS AHLL) 35,682 2,000 33,682
= 13,156
Al 22,526
OlHALS CHEd(el4dl) 35,682 2,000 33,682
= 13,156
Al 22,526
101 2124d| 35,682 0 35,682
= 13,156
Al 22,526
03 SR (RIAHL)ZEXES 35,682 0 35,682




SN BIRIEA
M HY2HHUI(LASALD)
9l 0122 oH|(DI/IE AN (crol: &2l
2 - IE]
SA - BB OLI(SIH) - NISAY - BaS Ol &bt e HImE2
OJI=23(HHAIRE, 85 2/958)
(2,391,230« 12 )+(2,415,2302« 118 ) 28,959
= 13,156
Al 15,803
OUERRAH(HHADR, 852/952)
17,1802« 12A] 2++ 123 2,474
ONELSH(BIARE, 852/952)
20,000 128 240
OYEZI(HEMRH, 852/953)
1,449, 1403 +23| 2,899
OUXRBZEN+L(BPARH, 852/958
) 11,5602 xBA| 2H 12 1,110
J|l2Zdl (22 S A 22,800 22,800 0
Jl2Zdl(IAS A 22,800 22,800 0
201 Let2AL| 15,000 15,000 0
01 At22t2ltl 15,000 15,000 0
A2 AIR2t2| ] 15,000,000 15,000
202 04| 3,000 3,000 0
01 =G| 3,000 3,000 0
OJ|l2gR=80{H(25H) 3,000,000& 3,000
203 2R F&l| 4,800 4,800
M EA2IHRFAL 4,800 4,800
O2M2HHRFZIH|(30210I6t)
400,000 * 12 4,800




